
Maths Transition Answers

Place Value Puzzle
The mystery number is .85

Calculation Course

Add 8

Subtract 50

Multiply by 10

Subtract 23

Add 4 
and add 8

Add 56

Subtract 26

Ava’s new number +  
Jai’s new number =

Jai’s starting 
number: 

5 × 9 = 

Ava’s starting 
number: 

2 × 9 =  18

74

48

48 + 19 = 67

19

7

30 

3

53

45
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Fraction Flags
Shade each flag using the given fractions. 

 

3
4  = green  1

4  = yellow 1
2  = red  14  =  yellow

1
3  = red  1

3  = yellow

1
2  = blue  1

4  = yellow 3
4  = green  1

4  = yellow

1
3  = green  1

3  = red

The rest will be white.

The rest will be blue.

The rest will be green.

The rest will be yellow.

1
4

1
3

1
4

1
3
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2D Shape Colouring
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